A 2x —y+5=0 3 1

R

.

Ul



12 7197 HaPst TS HIlo|A B A\
zaet, 1\
3\
\
\ 1]
5 -3 A 5%
\
3 \
3 \
- \
P \
\
@ y=x-2 ©y=-3x-1 ©y=x+y
1
® y=-3x @y:ix—f)
B



x+3

1

4
_1 +1
Y—4x

®y=
@



4.

71&717F 5 °]aL, y el 10

DO y=2x+10 @ y=-5x-10

@ y=5x-10 ® y=-5x+10






o1l

5x+4 Ty =3x+a 2 Izl wHo EI}
= otof et



T AT A 2x -3y =a, 3x+2y = b
of A=t H P oM T Wa+b 2 g
o

- oL

@® -10 @ -8 A -6
@ -4 ® -2

yA







@ 2 G 4

3 0






11.

A 4] 4x—2y—6:09,] =7} A %—L_ AFEHO9

@ A1AEH @ A2 AHEH
® A3AEH @ A4AFER

B A2 AFEHI}F A4 AFEH



Hols

o= FeMel RE

=
=

y

Ax=2y=373x=,

A]
2]

=
m

12.

@ 3 3 4 @ 5 B 6

@D 2



b) & uf,

Q=<

=3x+2%%y=ax-59 =] wHo| FE}
ot b O] Fh& 242t Ate|t) 2 Astoi et



o
=

7F (-2, 2) ¥ ™, b-a] F

of
el

8

ax—y =2, 4x+ by




™M OO 1O

A 1000 |10



16.

=AM 20—y +3=0,2x+y-3=09 I
A A WL she YA A2
©y=2x+3 @ y=-2x+3

3 3
@y:§x+3 @y:—§x+3

e AL, x o] 2

1
--x+3

® vy 5






M agx+y=05, 2x—y

=
m

18.

olJ

@ 3 B 7

1



19.

HugPd 9o F 3 AL, 5), B4, 1) ol o
o] Ze L7t AB & vt = Sk A4 a ¥

B
ct

i



— 9y = 4 9191 4 (k+6. k=) °f Thate] k ghe 7ot

@ 7 3 11 @ 13 3 15



21.

#A Bx + 6y = 5 2 FYoral x
RS A y=ax+b et &

®-3 @-2 O-

s
=1

1
2



—_—
N
T g
K
,q o_,._

o R’
U oy
KB om
T

©
=

22. o

A

®1,7

® -1, 6

-2, -8

@ 1.9

B 2.8



23. b I"HS ax—by+6 =02 I Lol},
ol W g — b2 FH2?

3 3
®§ ®—§ ? -2
@ 2 ® 0

yl

Sy



—a, y=3,2y+6=09 12 ZR<I
Fara o 27 (H, a>0)



AR A 2x—ay—5 =0T bx—y—-2 =10
o] Jejxs} b T 2 1), 712717
4013 yAHo] pQl HA2] y AW LY

-2 @ -1 ®
® 2

1
2




o= A" gol =4 A2, 7). B4, )&

FrAom sf=AB 9 A y — ax+30°] A(2,7)
Tht7] 918 A4 o B 78 1, a9 Fol 2 y=ar+3
% Qe 2L ;
1
B(4,1)
0] T




27. o& I”A dARRES y = ax ] A4 0]
AABC 2} w24 off, ¢ 9] 3fo] Hel=?

- < < < < = 2 < <
@%_a_Q @?1)_61_2 @2_(1_3



28.

LA 1(a+1)x+3y+b+3—094 13
Z7bohg A9 S ), b-a 9] 72?7

yl

By



29. A y=ax+bh9 AT Ey = fx—Q—J Jejze} Faysta,

y= —§x+2ﬂ I} x5 oA Ttk B Ty = ax+ b9
T o] 22

@ (-3,2) @ (-1,-1) ® (2,-2)



x+3y =11
30. Al AH S x+ay =-17FF M TS g o ghS F-5toiet
2x—-3y =-5

& e
=%



31. thg ool A4y = ax+b& IAGY
A ), Al D402 Eeuel 4zkdol 4
714 947] 1% @ ©] 3hg mE Fsfofet,

\»—AL\D <

N
o

N\

Sy



2 _
32. A ﬂﬁyzO,y:x,y:—ngréli%EW}cﬂ T 9] Hol=?



33.

b 1 2ol A4 y = mx+ 3 o] A4}
719 OABC & F H22& twth oA

HH o] do|7} S1EE O] Wo]o] 2 H|Y wfj m

A

ch-B

8 ID

|

1

7o
y=mz+3 EA R
/O 2 =



